
Σ1 Σ2

m (Σ1 ∪ Σ2) = m (Σ1) +m (Σ2)

Σ1 ∩ Σ2 �= φ

mΣ Σ

mΣ =

∫
Σ

m =

∫
Σ

ρ(P) v

ρ(P) P v

ρ(P)
P m = ρ(P)dv

σ(P)
m = σ(P)ds

λ(P)
m = λ(P)dl

t1 t2

m (Σ t1) = m (Σ t2)

⎡
⎣ d

dt

∫
P∈Σ

#           »

f (P t) m

⎤
⎦
R

=

∫
P∈Σ

[
d

dt

#           »

f (P t)

]
R

m
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Σ∫
P∈Σ

#   »

GP m =
#»

0

O∫
Σ

(
#    »

GO+
#   »

OP
)

m =

∫
Σ

#    »

GO m+

∫
Σ

#   »

OP m =
#»

0

mΣ · #    »

OG =
∫
Σ

#   »

OP m

#    »

OG =
1

mΣ

∫
P∈Σ

#   »

OP m

(xG yG zG)
#    »

OG (x y z)
#   »

OP

xG =
1

mΣ

∫
Σ

x · m yG =
1

mΣ

∫
Σ

y · m zG =
1

mΣ

∫
Σ

z · m

Σ n

Σi

Σi mi

Gi

#        »

OGΣ =
1

mΣ

n∑
i=1

mi · #      »

OGi ×G

Σ

×

×

×

×

G1

G2

Gi

Gn

Σ1

Σ2

Σi

Σn
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(C) (Π) (Δ)
(C) (C) (Δ)

L 2π · rG

S = 2π · rG · L

(C) λ m = λ · dl
mc = λ · L

(Δ)

(C)

dl

(C)

dl

Π

#»r

×P
r

rG

×
G

(Δ)

(C)((CC))
Π

#»r

ds
r

rG
×
G

mc · #    »

OG =

∫
C

#   »

OP · m

λ · L · #    »

OG =

∫
C

#   »

OP · λ · l

#»r

L · #    »

OG =

∫
C

#   »

OP l ⇒ L · rG =

∫
C

r l

S =

∫
S

r · dθ· l =

∫2π
0

dθ ·
∫
C

r · l = 2π

∫
C

r · l

∫
C

r · l = L · rG

(S) (Π) (Δ)
(S) 51
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(Δ)

V = 2π · rG · S

(S) m = σ ·ds
mS = σ · S

mS · #    »

OG =

∫
S

#   »

OP · m ⇒ S · #    »

OG =

∫
S

#   »

OP · ds

#»r

S · rG =

∫
S

r · ds

(S)

V =

∫
v

r · dθ·ds =
∫2π
0

dθ ·
∫
S

r · ds = 2π

∫
S

r · ds

V = 2π · rG · S

IA (S) =

∫
S

#   »

AP2 m
[
kg ·m2

]

#»x

#»y

#»z (Δ)

×
#»

δ

×P

H

A

(Δ)

IΔ (S) =

∫
S

(
#»

δ ∧
#   »

AP
)2

m
[
kg ·m2

]

(Δ)

IΔ (S) =

∫
S

#   »

HP2 m =

∫
S

d2
P · m

dP (Δ)
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I = M · R2
g

M Rg

H1 = 2 · R1

m1

R2 = 2 · R1 H2 = 1
8
· R1

m2 ≈ 0 25 · m1

Rext = 2 · R1 Rint ≈ 1 68 · R1

H3 = 1
4
· R1 m3 ≈ 0 15 ·m1

R (O #»x #»y #»z ) P x y z R

S O (O #»x #»y #»z )

IO(S) =

∫
S

#   »

OP2 m

=

∫
S

(
x2 + y2 + z2

)
m

S (O #»x )

I(O #»x)(S) =

∫
S

(
#»x ∧

#   »

OP
)2

m =

∫
S

( #»x ∧ (x · #»x + y · #»y + z · #»z ))2 · m

I(O #»x)(S) =

∫
S

(
y2 + z2

) · m

I(O #»x) =

∫
S

(
y2 + z2

) · m (O #»x )

I(O #»y) =

∫
S

(
z2 + x2

) · m (O #»y )

I(O #»z ) =

∫
S

(
x2 + y2

) · m (O #»z ) 53
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I(O #»x #»y) =

∫
S

z2 · m (O #»x #»y )

I(O #»y #»z ) =

∫
S

x2 · m (O #»y #»z )

I(O #»z #»x) =

∫
S

y2 · m (O #»z #»z )

IO = I(O #»x #»y) + I(O #»y #»z ) + I(O #»z #»x) =
1

2

(
I(O #»x) + I(O #»y) + I(O #»z )

)
I(O #»x) = I(O #»x #»y) + I(O #»z #»x)

I(O #»y) = I(O #»x #»y) + I(O #»y #»z )

I(O #»z ) = I(O #»z #»x) + I(O #»y #»z )

S G

m

(Δ1)
#»

δ

(Δ2) G

d

I(A
#»
δ) =

∫
S

(
#»

δ ∧
#   »

AP
)2

m

(Δ1)

I(G
#»
δ) =

∫
S

(
#»

δ ∧
#   »

GP
)2

m

(Δ2)

H P S

(Δ1)

K (Δ2)

#»x

#»y

#»z

##»#»»yy

(Δ1)

×
#»

δ
(Δ2)

×
d

P

H

K

A

G

I(A
#»
δ) =

∫
S

(
#»

δ ∧
#   »

AP
)2

m =

∫
S

#   »

HP2 m =

∫
S

(
#   »

HK+
#  »

KP
)2

m

I(A
#»
δ) =

∫
S

#   »

HK2 m+

∫
S

2
#   »

HK · #  »

KP m+

∫
S

#  »

KP2 m

∫
S

#   »

HK2 m = m · d2

∫
S

#  »

KP2 m = I(G
#»
δ)∫

S

2
#   »

HK · #  »

KP m = 2
#   »

HK ·
∫
S

#  »

KP m

G ∫
S

2
#   »

HK · #  »

KP m = 2 · #   »

HK ·
∫
S

#   »

KG+
#   »

GP m

= 2 · #   »

HK ·
∫
S

#   »

KG m+ 2 · #   »

HK ·
∫
S

#   »

GP m
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#   »

HK ⊥ #   »

KG ⇒ 2 · #   »

HK · ∫S #   »

KG m = 0
∫
S

#   »

GP m = 0

I(A
#»
δ) = I(G

#»
δ) +m · d2

(
A

#»

δ
)

(
G

#»

δ
)

I(A
#»
δ) = I(G

#»
δ) +m · d2

G

I(A
#»
δ)(S) I(B

#»
δ)(S)

S

I(A
#»
δ)(S) = I(G

#»
δ)(S) +m · d2

A

I(B
#»
δ)(S) = I(G

#»
δ)(S) +m · d2

B

I(A
#»
δ)(S) − I(B

#»
δ)(S) = m · d2

A −m · d2
B

dA dB

ΔA ΔB ΔG

#»x

#»y

#»z

#»#»#»»yy

(ΔA)

×
#»

δ

(ΔB) ×

(ΔG)

×
dA

dB

P

H

K

L

A

G

B

IO(S) O S #»u

IO(S) · #»u =

∫
P∈S

(
#   »

OP∧
(

#»u ∧
#   »

OP
))

m
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(O #»x #»y #»z ) ( #»x #»y #»z )

P S
#   »

OP = x · #»x + y · #»y + z · #»z
#»u = α · #»x +β · #»y + γ · #»z

#   »

OP∧
(

#»u ∧
#   »

OP
)

#   »

OP∧
(

#»u ∧
#   »

OP
)
=

(x · #»x + y · #»y + z · #»z )∧ ((α · #»x +β · #»y + γ · #»z )∧ (x · #»x + y · #»y + z · #»z )) =(
+α · (y2 + z2

)
−β · x · y − γ · x · z

)
#»x

+
(
−α · x · y +β · (z2 + x2

)
− γ · y · z

)
#»y

+
(
−α · x · z −β · y · z + γ · (x2 + y2

) )
#»z

S

∫
P∈S

#   »

OP∧
(

#»u ∧
#   »

OP
)
· m =

(
+α ·

∫
P∈S

(
y2 + z2

)
· m −β ·

∫
P∈S

x · y · m − γ ·
∫

P∈S

x · z · m
)

#»x

+
(
−α ·

∫
P∈S

x · y · m +β ·
∫

P∈S

(
z2 + x2

)
· m − γ ·

∫
P∈S

y · z · m
)

#»y

+
(
−α ·

∫
P∈S

x · z · m −β ·
∫

P∈S

y · z · m + γ ·
∫

P∈S

(
x2 + y2

)
· m

)
#»z

#»u

IO(S) · #»u =

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

+

∫
P∈S

(
y2 + z2

)
· m −

∫
P∈S

x · y · m −

∫
P∈S

x · z · m

−

∫
P∈S

x · y · m +

∫
P∈S

(
z2 + x2

)
· m −

∫
P∈S

y · z · m

−

∫
P∈S

x · z · m −

∫
P∈S

y · z · m +

∫
P∈S

(
x2 + y2

)
m

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

·

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

α

β

γ

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

O ( #»x #»y #»z )

IO(S) =

⎛
⎝ A −F −E

−F B −D

−E −D C

⎞
⎠

O
( #»x #»y #»z )

IO(S) =

⎛
⎝I(O #»x) −Pxy −Pxz

−Pxy I(O #»y) −Pyz
−Pxz −Pyz I(O #»z )

⎞
⎠

O
( #»x #»y #»z )

A = I(O #»x) =

∫
P∈S

(
y2 + z2

) · m S (O #»x )
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